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FIGURE 3.1
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The peak of Mount Everest. (credit: Gunther Hagleitner, Flickr)
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Temperatures below zero are described by negative numbers.
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Mediterranean Sea (0 ft.) Israel Dead Sea (1302 ft) Jordan

The surface of the Mediterranean Sea has an elevation of 0 ft. The diagram shows that
nearby mountains have higher (positive) elevations whereas the Dead Sea has a lower
(negative) elevation.
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Depths below sea level are described by negative numbers. A submarine 500 ft below
sea level is at —500 ft.
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On a number line, positive numbers are to the right of zero. Negative numbers are to
the left of zero. What about zero? Zero is neither positive nor negative.
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The number 3 is to the left of 5 on the number line. So 3 is less than 5, and 5 is greater
than 3.
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The numbers -2 and 2 are opposites.
(a)
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The numbers -3 and 3 are opposites.

(b)
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~5is 5 units from 0, 5 is 5 units from 0,
S0 |—5|=5 5&'5':5.
5 units 5 units
-~ : —
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1+(-1})=0

A blue counter represents +1. A red counter represents —1. Together they add to zero.



-5-(-3)=-2
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8-(-3) 8+5
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a minus b

the difference of aand b

subtract b from a

b subtracted from a

b less than a
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53 —5(3)
add 5, 3 times add -5, 3 times

00000 Q0000

00000 000009

00000 00000
5+*3=15 -5(3)=-15



FIGURE 3.20

5(-3)
take away 5, 3 times

0000

Q0000

08000

What's left

Q0000
Q0000
Q0000

15 negatives
5(-3)=-15

(=3)(=3)

take away -5, 3 times

00000

90000,
Q0000
© _.___)

00000

00000

O0000
15 positives
(-5)-3)=15
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x+4=12 _}"—5=9
x+4-4=12-4 ¥-5+5=9+5

x=28 j.f=14
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FIGURE 3.24
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This OpenStax ancillary resource is © Rice University under a CC-BY 4.0 International
license; it may be reproduced or modified but must be attributed to OpenStax, Rice
University and any changes must be noted.
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